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Introduction
This contribution proposes text for TR 29. 801 to describe the scenarios of SS7 signalling transport network. Changes are highlighted.

7
Scenarios of SS7 signalling transport network

7.1
Introduction

This clause discusses possible protocol scenarios of signalling networks with STP. Then there will be a compare of there scenarios and a conclusion. There will be three possible scenarios.

3GPP TS 29.202 describes the scenario of using SG to access to SS7 network, M3UA should be used in A interface in this scenario, in this section we just discuss the IP based scenarios of SS7 signalling transport.
7.2
M3UA+M3UA
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Figure 3 M3UA used at A and B interface

This scenario describes the signalling network that SP access to STP by M3UA, and M3UA is also used between STPs. One of the main functions of M3UA is access to SS7 network as SG. But M3UA could not fulfil the function of STP, so it needs to extend M3UA. The work of extending M3UA should be completed in IETF.
7.3
M3UA+M2PA
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Figure 4: M3UA at A interface and M2PA at B interface

This scenario describes the signalling network that SP access to STP by M3UA, and between STPs is MTP3/M2PA. The STPs embed the function of SG. This scenario is similar to the scenario that described in 3GPP TS 29.202, the difference is in 3GPP TS 29.202, the signalling protocol between STPs is MTP3/MTP2/MTP1 or MTP3B/SSCF/SSCOP/AAL5 and in this scenario, the signalling protocol between STPs is MTP3/M2PA/SCTP/IP, only the transport protocol is different. So it is proposed that usage of M2PA between STPs also should be added to 3GPP TS 29.202.
7.4
M2PA+M2PA
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Figure 5:  M2PA used at A and B interface

This scenario describes the signalling network that SP access to STP by MTP3/M2PA, and between STPs is also MTP3/M2PA. This scenario is just like the traditional SS7 network, it only replace the MTP2 with  M2PA/SCTP/IP. This scenario will establish an IP based signalling network and will keep the MTP3 function, so maintaining of the signalling network is like the traditional SS7 signalling network. 
7.5
Difference among these scenarios


All these three scenarios will establish IP based signalling network. For scenario 1 and scenario 3, the STP need not protocol transform, so the performance will be high. For scenario 3, if SCTP association is broken, it will cause changeover and usage of MTP3 will keep the calls alive. For scenario 1 and 2, if SCTP association between SP and STP is broken, the calls on that association will be lost.
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